OVERVIEW OF TRIGONOMETRIC EQUATIONS

1 Solvefor0<x<2m.
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OVERVIEW OF TRIGONOMETRIC EQUATIONS

3 Solvefor-r<x<nm

(@) cos’x—2cosx+1=0 (b) sin’x=sinx (¢) cos2x=sinx
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OVERVIEW OF TRIGONOMETRIC EQUATIONS

3 Solvefor-r<x<nm
(d) sinx=1-cosx (e) cos2x=2+cosx () tan2x=cotx
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OVERVIEW OF TRIGONOMETRIC EQUATIONS

5 Solvefor0<6<2m
(@) V2sin260+1=0 (b) lan(e—i’-;-) =-3 (c) cosZBcos% - sin260 m%:o.s
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OVERVIEW OF TRIGONOMETRIC EQUATIONS

6 Solvefor-r<@<nm
(a) cos38=cos@ (b) 2cos260=4cos0-3 (c) 3tan28=2tan@
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OVERVIEW OF TRIGONOMETRIC EQUATIONS

6 Solvefor—-n<6<m

(d) mn(ze-§)+1=o © 2cos(zo-13€)=ﬁ (f) 2sin’6+cosf=1
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OVERVIEW OF TRIGONOMETRIC EQUATIONS

8 Solvefor0<0<2m
(@) tan’6-tan =0 (b) tan@=siné (c) sec2@=cosec26
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OVERVIEW OF TRIGONOMETRIC EQUATIONS
8 Solvefor0<6<2m
(d) sin28=tan@ (e) sin36=sin26
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